
PARTS
LIST

DOC: 03-925914-11/12
DESC: Sub-Assembly Micro - TCD
PAGE:

REV

1  of  3 1CHG
HISTORY

TOOLSICONS

chromatography

PREPARED BY: Sax Makthepharack           REVISED BY: CONTROL: INDUSTRIAL ENGINEERING REV. DATE: SHOWN-02 - 05 - 99 Seamus Flanagan

MENU

SUB-ASSEMBLY MICRO - TCD

SUB-ASSEMBLIES STATION, ASSEMBLY PROCEDURES



PARTS
LIST

DOC: 03-925914-11/12
DESC: Sub-Assembly Micro - TCD
PAGE:

REV

2  of  3 1CHG
HISTORY

TOOLSICONS

chromatography

PREPARED BY: Sax Makthepharack           REVISED BY: CONTROL: INDUSTRIAL ENGINEERING REV. DATE: SHOWN-02 - 05 - 99 Seamus Flanagan

MENU

NOTES:

1. DEPENDING ON APPLICATION USE 120V AC 50W HEATER (03-925899-01) OR

CP-738632
MICRO TCD CELL

CP-84723, 2 PLCS 
SCREW, M4 X 8

CP-739415
BRACKET MICRO-TCD

03-925913-01
DETECTOR BASE, DUAL TCD

12-901163-00, 2PLCS
SCREW, SEMS, 8-32 X 3/8”, SS

03-925374-01
TEMP PROBE, PLATINIUM

230V AC 50W HEATER (03-925899-02).

2. MAKE SURE HEATER AND PLATINIUM TEMP PROBE ARE FULLY SEATED.

SEE NOTE #1

22-119650-00, 2 PLCS
CABLE TIE, 3-5/8”

3. ORIENT MICRO-TCD CELL ON BASE WITH FLAT CABLE AT FRONT.

MICRO-TCD EXPLODED VIEW MICRO-TCD ASSEMBLY VIEW



PARTS
LIST

DOC: 03-925914-11/12
DESC: Sub-Assembly Micro - TCD
PAGE:

REV

3  of  3 1CHG
HISTORY

TOOLSICONS

chromatography

PREPARED BY: Sax Makthepharack           REVISED BY: CONTROL: INDUSTRIAL ENGINEERING REV. DATE: SHOWN-02 - 05 - 99 Seamus Flanagan

MENU

738948, 2 PLCS
INSULATION L/R

738565, 4 PLCS
INSULATION LOWER

CP-738563
INSULATION UPPER

CP-847232, 2 PLCS
SCREW, M3CP-738640

FRONT COVER

CP-738641
TOP COVER

12-901164-00,  2 PLCS
SCR, SEMS, 8-32 X 1/4”, SS

NOTE:

1. PLACE THE MICRO -TCD ON FIXTURE T-4310 TO INSTALL INSULATION.

CLICK HERE FOR 
MICRO-TCD INSTALLATION


	CP-738632 MICRO TCD CELL
	CP-84723, 2 PLCS SCREW, M4 X 8
	CP-739415 BRACKET MICRO-TCD
	03-925913-01 DETECTOR BASE, DUAL TCD
	12-901163-00, 2PLCS SCREW, SEMS, 8-32 X 3/8”, SS
	03-925374-01 TEMP PROBE, PLATINIUM
	22-119650-00, 2 PLCS CABLE TIE, 3-5/8”
	738948, 2 PLCS INSULATION L/R
	738565, 4 PLCS INSULATION LOWER
	12-901164-00, 2 PLCS SCR, SEMS, 8-32 X 1/4”, SS
	CP-738563 INSULATION UPPER
	CP-847232, 2 PLCS SCREW, M3
	CP-738641 TOP COVER
	CP-738640 FRONT COVER

